CVS DEALS 2/26 - 3/4 Savvy Coupon Shopper

LOVE BEAUTY & PLANET HAIR CARE SPEND \$15 GET \$10 EXTRABUCK (LIMIT 1)

Buy (2) LBP Shampoo/Conditioner \$8.69 each Total comes to \$17.38 Use the Buy 1 get 1 FREE LBP coupon 2/19 Save Insert Pay \$8.69 and get a \$10 ExtraBuck Final cost is both for FREE & \$1.31 MoneyMaker!

GARNIER WHOLE BLENDS BUY 2 GET \$2 EXTRABUCK (LIMIT 1)

Buy (2) Garnier Whole Blends 2 for \$8 Use the \$3/2 Garnier Whole Blends digital coupon Pay \$5 & get \$2 ExtraBuck Final cost is \$3 for both or \$1.50 each

GARNIER FRUCTIS BUY 2 GET \$2 EXTRABUCK (LIMIT 1)

Buy (2) Garnier Fructis 2 for \$8 Use the \$3/2 Garnier Fructis digital coupon Pay \$5 & get \$2 ExtraBuck Final cost is \$3 for both or \$1.50 each

SELECT COLGATE TOOTHPASTE BUY (2) GET \$5 EXTRABUCK (LIMIT 2)

Buy (2) Colgate Toothpastes 2 for \$7.98 (Included are: Colgate Optic White StainFighter 4.2oz, Total 3.3oz, Max 6.0 oz, 2in1 4.6oz) Use the \$3/2 Colgate Toothpaste digital coupon (exp 3/4) Pay \$4.98 & get a \$5 ExtraBuck Final cost is both for FREE!

ORAL B 2-PACK TOOTHBRUSHES BUY 1 GET \$3 EXTRABUCK (LIMIT 2)

Buy (1) Oral B 2-Pack Indicator Toothbrush for \$5.19 Use the \$2 Oral B digital coupon Pay \$3.19 & get a \$3 ExtraBuck Redeem to Ibotta for \$2 Oral B Rebate (Limit 3) Final cost is FREE & \$1.81 MoneyMaker!

CREST SCOPE 1 LITER/CREST ADVANCED MOUTHWASH 500ML OR 1 LITER BUY 1 GET \$2 EXTRABUCK (LIMIT 2)

Buy (1) Crest Scope or Advanced Mouthwash \$4.99 Use the \$1 Crest Mouthwash digital coupon Pay \$3.99 & get a \$2 ExtraBuck Final cost is \$1.99

COVERGIRL COSMETICS BUY 3 GET \$10 EXTRABUCK (LIMIT 1)

Buy (3) CG Perfect Point Pencils \$4.99 each Total comes to \$14.97 Use the \$4 Mystery Offer Coupon Pay \$10.97 & get a \$10 ExtraBuck Final cost is 97¢ for all 3 or 33¢ each!

HUGGIES JUMBO DIAPERS SPEND \$20 GET \$10 EXTRABUCK (LIMIT 1)

Buy (2) Huggies Jumbo Diapers (\$13.49, \$6.75)
Total comes to \$20.24
Use the \$2/1 Huggies digital coupon (exp 3/12)
Pay \$18.24 & get a \$10 ExtraBuck
Final cost is \$8.24 for both or \$4.12 each.
***Scan receipt in Fetch Rewards for Bonus Points!

ANY ENSURE, GLUCERNA, JUVEN 8CT BUY (2) GET \$5 EXTRABUCK (LIMIT 1)

Buy (2) Glucerna Mini Treats \$6.59 each
Total comes to \$13.18
Use (2) \$3.50/1 Glucerna product coupons 2/5 SS Insert
Pay \$6.18 & get a \$5 ExtraBuck
Final cost is \$1.18 for both or 59¢ each!

\$8 off \$40 Scenario:

Buy the following:

- (2) Glucerna Mini Treats \$6.59 each
- (2) LBP Shampoo/Conditioner \$8.69 each
- (2) Colgate Toothpastes 2 for \$7.98
- (1) Oral B 2-Pack Indicator Toothbrush for \$5.19 Total comes to \$43.73

Use the following:

\$8 off \$40 Purchase Coupon
(2) \$3.50/1 Glucerna product coupons 2/5 SS Insert
B1G1 FREE LBP Hair Coupon 2/19 Save Insert
\$3/2 Colgate digital coupon
\$2/1 Oral B digital coupon

Pay \$15.04 & get the following:

\$5 ExtraBuck for Glucerna \$10 ExtraBuck for LBP \$5 ExtraBuck for Colgate \$3 ExtraBuck for Oral B Final cost is all 7 items for FREE & \$7.96 MoneyMaker!

CVS UNADVERTISED DEALS

CVS ACNE PRODUCTS SPEND \$10 GET \$3 EXTRABUCK (LIMIT 1)

Buy (2) CVS Acne Treatment Cream \$5.43 (CarePass Price) Total comes to \$10.86 Use the 2 off \$10 CVS Facial Care CRT Pay \$9.26 & get a \$3 ExtraBuck Final cost is \$6.26 for both or \$3.13 each

ODELE HAIR CARE BUY (2) GET \$4 EXTRABUCK (LIMIT 1)

Buy (2) Odele Hair Care \$12.99 Pay \$25.98 & get a \$4 ExtraBuck Final cost is \$21.98 for both or \$10.99 each

POND'S, ST IVES, NOXZEMA BUY (2) GET \$3 EXTRABUCK

Buy (2) St. Ives Scrubs (\$6.49, \$3.25) Pay \$9.74 & get a \$3 ExtraBuck Final cost is \$6.74 for both or \$3.37 each

HIMALAYA SUPPLEMENTS B1G1 FREE

Buy (2) Himalaya Focus Supplements \$19.99 Final cost is \$19.99 for both or \$10 each Redeem to Ibotta for (2) \$5 rebates Final cost is \$10 for both or \$5 each

WOULD BY BAR STOOL HAIR CARE BUY 2 GET \$4 EXTRABUCK

Buy (2) Would by Barstool Shampoo/Cond. (\$10.49, \$5.25) Pay \$15.74 & get a \$4 ExtraBuck Final cost is \$11.74 for both or \$5.87 each

FLAWLESS SHAVE PRODUCTS BUY 1 GET \$5 EXTRABUCK

Buy (1) Flawless Touch Dermaplane Glo \$20.99 Pay \$20.99 & get a \$5 ExtraBuck Final cost is \$15.99

NIZORAL 9.40Z CONDITIONER BUY 1 GET \$6 EXTRABUCK

Buy (1) for \$14.99 Pay \$14.99 & get a \$6 ExtraBuck Final cost is \$8.99